Datermuvs the moment produdaed Dy the farce § (i
M) abtout palnt O, Express tha resull os o Canneion
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The link at the origin is subjected to two forces FlI and
F2.1f F1 = 90 N, F2 = 80 N, alpha = 20 ° and beta = 35 °.
Determine the magnitude of the resultant force.

Answer.



I
" Intha truss shown, doterming tha force In moember GF,

Moreaver, Indlcate whother tho member I3 in tenskon
or comproseion, Hote that F = 20 kN, Your anawar
shouid lnok ke this: F = __, comprossion of tenslon.







[t ridng 1 Ccomponent i Of Tho feccUons & B Aasd soppodt (A), Maota That bl = 10 k4 m ord
T w % e Y orimeel Shdsatd 00k bee fhér
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